AP Calculus BC
Chapter 2 Part 2 Review

Name

3.3
1. What is lim EHM° =2,

h—0
a) 3z°h+3z  b) 32? c) 6zh
d) h? e) 0

sin(z + h) —sinz

2. What is lim
h—0

h
a) sin(z+h) D) oo c) —sinx
T
cos
d
) - e) cosw
3 i SO 3(z + h) —sin 3z "
h—0 h
a) 3cos3z b) 3sin3xz c) 3
d) 0 e) undefined

4 What s tim S0 (&) —sin(g)

h—0 h
a) 0 b) _% 0 %
d) ? e) —?

5. The functions f and g are differentiable and have
the values shown in the table.

If A= f+ g then A'(2) =

a) =2 b)3 | f|flg|d
c) 4 d) —4 0] 5| 1]-7] 3
e) 5 2| 8 -5 1
4114 9(-3]| 4
6 [26 |27 | -1 |16

6. The functions f and g are differentiable and have
the values shown in the table.

If A=3f+2g then A'(4) =

a) 44 b) 5 x| flFf)|l g l|d
c) 0 d) 36 05| 1|-7] 1
e) 35 2 8 -5 1
4 |14 9 | -3 4
6 [26 |27 | —1 | 16

10.

Date

The functions f and g are differentiable and have
the values shown in the table.

If A= f-g then A/(4) =

a) 0 b) 114 z{ fLf)| g |4
c) 36 d) 83 0] 5| 1]-7]3
e) 29 2 | 8 5|1
4 |14 91 -3 4
6 |26 |27 -1 |16

The functions f and g are differentiable and have
the values shown in the table.

If A= <1> then A’(4) =

g
0 b é ! /
a) ) 5 z| f1f]9glyg
1
<) ~3 ) 7 2| 8 -5 1
1 4114 9|31 4

e) ——
4 6 126 |27 |—1116

The functions f and g are differentiable and have
the values shown in the table.

IfA= <i) then A'(2) =
g

23 23

- 'b _ - ! /
a) 55 ) 1 x| f1f] g g1

23 oo o 5| 1|-7] 42
c) 7 ) — 2| 8 -5 1

23 4114 9|-3] 4
e) ——

25 6126 |27 |—-1116

The functions f and g are differentiable and have
the values shown in the table.

If A= f(g(x)) then A’/(-8) =

a) =72 b) 18 z | Ff|1f |l g ld
c) 54 d) 9 -8 4] 3|2
¢) —9 —6 |10 |12

-2 120 9 6 |18
2130 |15 | 12 | 24




11.

12.

13.

The functions f and ¢ are differentiable and have
the values shown in the table.

If A=./f(z) then A'(-2) =

9

a) 3 N I O A I
b) impossible 841317216
0 61012 o] 9
c) 1 2116 | 9 18
8 2130 11| 12 |24
d) =
9
e) 3

The functions f and g are differentiable and have
the values shown in the table.

If A= f(3z) then A'(-2) =

a) 36 b) 12 N I R O 7

¢) —6 d) —27 8| 4] 3]-2]s
e) 18 —6 [ 10 | 12

-2 116 9 18

2130 [15 | 12 | 24

The functions f and g are differentiable and have
the values shown in the table.

If A= f(2®) then A'(-2) =

a) —18 e | 1| 9|4

b) 9 -8 4 3 -2 6

c) —120 —6 | 10 | 12

d) 36 -2 116 9 18
2 (30 |15 | 12 | 24

e) 3

14.
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Given the graph of f shown above, which of the
following is the graph of the derivative, f'?

a) y
x

b) Yy

!
-

c) y
”

d) Y
”

e) Yy
x
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15. If f(x) = tanz, then f'(§) = 21. Find an equation of the tangent line to the graph
of f(z) = Ef;g% when z = —2.
A b - 9% di  of
a) y—5=6(x+2) b) y+5=6(z+2)
16. If f(x) = /3 4 cosz — (3mx), then f’ (g) = c) y—5=—-6(z—2) d) y+5=—6(z—2)

e) y—5=23(z+2)

a) AR b) —@—?m c) 3w

22. Find the equation of the tangent line to the
d) V3—m ¢) 8- graph of 2% + 2y? = 3 at the point (1,1).

. e dy 2z 1 1
17. Find the derivative, E,ofy— T2 a) y—1=§(w—1) b) y+1:—§(m+1)
1 12z 1 1
S b) ——— c) y+1l==(z+1 d)y—-1=——(z—-1
)~ R ) @ty d) S 1)
1
622 + 2 922 — 2 =——(z—-1
o) x” + d) b e) y 2(£U )
(1 —3z2)2 (1-3z)2
2z 23. Given 2z + 5y = 12 is the equation of the line
e) 3(1 — 322)2 normal to the graph of f at the point (1,5), find
f1Q).
z® + 327 +2
18. 1If f(z) = =—————— then f'(1) = a) 3 b) 2 c) 2 d) 2 e) 5
a) 7 b) 6 c) 5 d) 3 e) 4 24, Given f(z) = 2> 4+3x -5 forx <1,
5z — 6 for x > 1

19. Find the derivative of z?f(x).
a) z(af(z)+2f(x)]  b) 2f(x) 2 4 5r—3 forx<0

. T xTr — or r ,

o) zlaf(z)+2f(x)]  d) 22f(=) 25. Given f(x) = {gm_g for # > 0

e) 2%+ [f'(2)]?

Does the curve have a tangent at x = 17

Does the curve have a tangent at x = 0?

20. The graph f(z) has horizontal tangents when 26. At what point is the slope of f(z) = 222 — 7z — 3
T = equal to 57
o P
3T ’ dzb
J'(=) 51

a) 6z° b) 120z

\ /l‘\ , ) Ly c) 720(x'20) d) 720

5 ANz 10 1 2\aA4 5

T e) 360z° + 1202 +
. d*y 11—z
a) =3,0,3 b) —4, 2 28. Find -5 for y = —.
c) —4, —2,2 4 d) —4, -2, 4
©) 24 a) 0 b) (z —3)3 ) (z —2)
—4 2
d)




29.

30.

31.

32.

33.

Find the derivative of y = (2% + 2z + 5)5.

a) 6(2z +2)(z? + 2z + 5)°
b) (12 + 1)(2® 4 2z + 5)°
c) 6(z? + 2z +5)°
2 2
d) et
(x2 + 2z + 5)0

6(2z +2)

22+ 2z +5

e)
Find the derivative of
flz)=—-8(1—2)? +7(1—2) +2.
a) —16z + 16
c) 9(1—=)
e) —(1—2x)

b) 16(1—z) —7
d) —16(1—z) -7

Find the derivative of y = v/2 + .
a) %@2 +2) 220+ 1)

b) %@2 + )22 — 1)

c) g(gﬂ + 2)%3(2x + 1)

d) g(w +1)723(2z + 1)

o) %@2 + 22320 + 1)

Find the derivative: s(t) = sec v/t

sec\/f . tan\/f

a) tan®+/t b) Wi

1 1

c) sec —=-tan —= d) secv/t-tan+/t

) 2\/5 2\/5 ) \/— \/_

csc/t
e)
NG

Find the derivative of y = sin 2.
a) 2 cosz? b) cosz?
c¢) sin2z d) 2sinzcos® z

e) xcosz’

34.

35.

36.

37.

38.

Page 4
Differentiate: y = csc? 6 + cot? 6

a) cot@ + cscto

o

)
)
c) —4csc?fcotf

d) —csc?(csc? 6 + cot? 9)
e)

Find f'(z) given f(z) = sin®(4x).

=

—_

a) 4cos?(4x) b) 3sin? 4z cos(4x)

c) cos®4zx d) 12sin? 4z cos(4x)

e) 12cos®(4x)

d
Given 2z = zy + y2, then Y _
dz
-2 —(2 2 —
a) 2t b) 2+y) 0 2-y)
T+ 2y T+ 2y T+ 2y
-2 1 —(—2
q 2wty =22+ y)
T+ 2y T+ 2zy
d
Find d—z given z = sin (z + y).
1—
a) 0 b) cos (z + y)
cos (z + y)
c) cos(z+y) d) 1
1
cos(z +y)

What is the slope of the tangent line to
2y + zy? = 12 at the point (1,3)?

a) —1—75 b) 3 c)% d) 3 e) —

W=



Answer List

4.
7.

10.
13.
16.
19.
22.
25.
28.
31.
34.
37.

Q0 ® T a6 o Q.

no, slopes are different

d
a

C

b
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APC DA 2
APC DA 24
APC DB 9
APC DB 21
APC DB 29
APC EB 14
APC EB 59
APC EC 59
APC EC 67
APC ED 7
APC EF 7
APC EF 32
APC EG 18
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38. a
2. APC DA 10 3.
5. APC DB 1 6.
8. APC DB 13 9.
11. APC DB 23 12.
14. APC DD 10 15.
17. APC EB 23 18.
20. APC EC 1 21.
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38. APC EG 19
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APC DA 12
APC DB 5
APC DB 19
APC DB 25
APC EB 8
APC EB 31
APC EC 12
APC EC 65
APCED 1
APC EF 5
APC EF 23
APC EG 3



